
Ascending Order: 

Ascending order means arranging numbers from the smallest to the largest. In this 
order, the smallest number comes first, and the largest number comes last. 

For example, if we have the numbers 3, 7, and 2, in ascending order they will be 
arranged as: 2, 3, 7. 

Descending Order: 

Descending order means arranging numbers from the largest to the smallest. In this 
order, the largest number comes first, and the smallest number comes last. 

For example, if we have the numbers 3, 7, and 2, in descending order they will be 
arranged as: 7, 3, 2. 

How to Arrange Numbers in Ascending and Descending Order? 

 To arrange numbers in ascending order, start with the smallest number and 
move up to the largest. 

 To arrange numbers in descending order, start with the largest number and 
move down to the smallest. 

 When dealing with 4-digit numbers, always compare the numbers by looking at 
their place values (thousands, hundreds, tens, and ones). 

Properties of Arranging Numbers 

 Ascending order arranges numbers from smallest to largest. 

 Descending order arranges numbers from largest to smallest. 

 The order of digits in a multi-digit number is determined by their place value 
(thousands, hundreds, tens, and ones). 

 Ascending order helps in organizing numbers when you need to find the 
smallest number, while descending order helps in finding the largest number. 

Example 1 

Question: Arrange the following numbers in ascending order: 3,208, 1,765, 4,390, 
2,012. 

 

Arranging Numbers in Ascending and Descending Order



Solution: 

Step 1: Compare the thousands place of each number: 

 3,208 has 3 in the thousands place. 

 1,765 has 1 in the thousands place (smallest). 

 4,390 has 4 in the thousands place. 

 2,012 has 2 in the thousands place. 

Step 2: Now arrange the numbers from smallest to largest: 

1,765, 2,012, 3,208, 4,390. 

Answer: The numbers in ascending order are 1,765, 2,012, 3,208, 4,390. 

Example 2 

Question: Arrange the following numbers in descending order: 5,432, 6,321, 
4,210, 7,654. 

Solution: 

Step 1: Compare the thousands place of each number: 

 7,654 has 7 in the thousands place (largest). 

 6,321 has 6 in the thousands place. 

 5,432 has 5 in the thousands place. 

 4,210 has 4 in the thousands place (smallest). 

Step 2: Now arrange the numbers from largest to smallest: 

7,654, 6,321, 5,432, 4,210. 

Answer: The numbers in descending order are 7,654, 6,321, 5,432, 4,210. 

Summary Points 

 Ascending order arranges numbers from smallest to largest. 

 Descending order arranges numbers from largest to smallest. 

 When ordering multi-digit numbers, compare the digits starting from the 
leftmost place value (thousands, hundreds, tens, ones). 

 Ordering numbers helps in identifying the smallest or largest value depending 
on the arrangement. 


